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NEET MICRO TEST 22 (02.12.2024)

20x4=80 MARKS

Botany: Anatomy of flowering plants, Zoology: Chemical coordination & integration
Chemistry: Practical chemistry, Physics: Electromagnetic Waves

1. In which of the following vessels are absent?
1) Neem
2) Mango
3) Pinus
4) Rice

2. The living component of a complex tissue which
is without nucleus is?
1) Tracheid
2) Vessel
3) Sieve tube
4) Parenchyma

3. Which of the following parts cannot be seen in
monocot stem?
a. Medulla
b. Pericycle
c. Endodermis
d. Vascular bundles
e. Cambium
f. Xylem
g. Hypodermis
h. Medullary rays
1)a, b,c,candh
2)a,b,c,dande
3)b,c,d,eand f
4)a,c.d,eandh

4. Which of the following is correct w.r.t monocot
stem?
1) Presence of radial vascular bundles
2) Presence of starchy endodermis
3) Presence of conjoint vascular bundles
4) Presence of bulliform cells

5. Identify the incorrect statement w.r.t dicot leaves

1) the size of vascular bundle depends on size of
the veins

2) only upper surface has conspicuous cuticle

3) usually, abaxial epidermis bears more stomata
than adaxial epidermis

4) vascular bundles are surrounded by a layer of
thick walled bundle sheath cells
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6. 1) pigmentation

I1) Metabolism

I11) Defence capability

All of the above written activities are influenced
by

1) adrenal gland

2) pineal gland

3) thymus gland

4) thyroid gland

How many statements are correct regarding

parathyroid gland?

i) In humans, four parathyroid glands are present
on the front side of the thyroid gland

i) It secretes parathromone which is steroidal in
nature.

iii) It acts on bone and stimulates bone
demineralization

iv) It increases Ca?* level in blood

1) one

2) two
3) three
4) four

8. Hyposecretion of hormones by adrenal cortex

leads to

1) Addison’s disease
2) Grave’s disease
3) Diabetes insipidus

4) Cretinism
9. Match hormone with it’s action.

A) Cortisol i) Promotes glycogenolysis

B) Glucagon i)  Suppress  immune
responses

C) Insulin iii) Acts during emergency

D)Catecholamines|iv)  Regulates  glucose
homeostasis

10.

1)A-ii,B-iv,C-1i,D -iii
2)A-iii,B-iv,C-i,D-ii
3)A-i,B-ii,C-iii,D-iv
4)A-ii,B-i,C-iv,D-iii

Hormones which interact with intracellular
receptors are
1) amino acid derivatives
2) peptide hormones
3) iodothyronines
4) protein hormones
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. Mole of MnOy7 ions required to react with 1 mole

of Sn?* ion in acidic medium is
1) 1/5
2) 2/5
3) 1/2
4) 2/3

The colour in acidic and basic medium of methyl
orange indicator respectively are

1) Pink and Yellow

2) Pink and Red

3) Orange red and Yellow

4) Orange and Pink

If enthalpy of neutralisation of HCI by NaOH is
—58.84 kJ/mol and by NH4OH is —52.26 kJ/mol,
then enthalpy of ionisation of NH4OH is

1) 6.58 kJ/mol

2) —6.58 kJ/mol

3) 4.5 kJ/mol

4) —4.5 kJ/mol

Which of the following compounds will give
blood red colour during Lassaigne's test?

1) CH3CH:CN

2) CH3CONH:

3) CH3CH2SCN

4) CH3CH2NH>

Statement I: Brown ring test is done for detection
of nitrate ion.

Statement Il: In brown ring test, the brown
coloured complex ion formed is
[Fe(H20)5(NO)]**

1) Both statement | and statement 1l are correct

2) Both statement | and statement 11 are incorrect

3) Statement | is correct but statement Il is
incorrect

4) Statement | is incorrect but statement Il is
correct

If w and e represent permeability and
permittivity of free space respectively, then the

dimensional formula of —— is
1) [L71T]
2) [L°T]
3)[LT 7]
4) [LTY

Ho€o
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An LC resonant circuit contains a 400 pF
capacitor and a 100 pH inductor. It is set into
oscillation coupled to an antenna. The
wavelength of the radiated electromagnetic
waves is

1) 377 nm

2)377m

3) 377 cm

4) 3.77 cm

In an electromagnetic wave, the electric and
magnetic fields are 100 Vm™ and 0.265 Am.
The maximum energy flow per unit area per
second will be

1) 79 Wm2

2) 13.2 Wm™2

3) 53 Wm™

4) 26.5 Wm

The electric field of an electromagnetic wave
travelling through vacuum is given by the
equation E = Eg sin (kx — wt) the quantity that is
independent of wavelength is

1) k

2) k/o

3) ko

4) Ko

Match and select the correct option.

type of association / application
electromagnetic
wave

A) Infrared wave |i) for broadcasting

B) Radio waves ii) to treat muscular strain

C) X-rays iii) absorbed by ozone

layer of the atmosphere

D) Ultraviolet rays |iv) to detect fracture of

bones

I) A-ii, B—i, C—iv, D-iii
2) A-i, B-ii, Ciii, D-iv
3) A-iv, B-iii, C—ii, D-i
4) A-iii, B—iv, C—i, D—ii
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1) A-ii, B—i, C—iv, D-iii
2) A—i, B—ii, Ciii, D—iv
3) A-iv, B-iii, C—ii, D-i
4) A-iii, B—iv, C—i, D-ii
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Botany: Anatomy of flowering plants, Zoology: Chemical coordination & integration
Chemistry: Practical chemistry, Physics: Electromagnetic Waves

Solution
1. Answer: (3) 15. Answer: (1)
2. Answer: (3) NO; +3Fe?* +4H" —NO+3Fe®" +2H,0
3. Answer: (1) 2+ 2
4. Answer: (3) [Fe(HZO)e] +NO —>[Fe(H20)5 (No)] +H,0
5. Answer: (2) "
6. Answer: (2) Brown ring test is done to detect NO3 ions.
7. Answer: (2)
8. Answer: (1) 16. Answer: (3) {
9. Answer: (4) We know = speed of light (c)
10. Answer: (3) ,/ Ho€o
11. Answer: (2 1 3 e
M e w—m= = (LT = @Y
2MnO;, +5Sn“" +16H o€,
——»2Mn*" +5Sn* + 8H,0
Number of equivalents of MnO, 17. Answer: (2)
= Number of equivalents of Sn?* We know £= 1
(Ntactor ><mo|es)MnO‘_l = (Ntactor xMoles)g 2. 2mJLC
5x moles =2 x 1 - 1 i 5x10° Hz
Moles of MnO, = % 2n\/(400x10"2)(100x10'6) 27
¢ (3x10°
. - %
12. Answer: (3) # Wavchoogth A= (leo‘]( i
Methyl orange indicator working pH range is 3.1 to
4.5 =37Tm
Methyl orange shows orange red and yellow
colour in acidic and basic medium respectively. 18. Answer: (4)
S = EB sin 0 = 100 (0.265) = 26.5 Wm
13. Answer: (1)
AHNeutraIisislticm 7 AHionisaticm +AH (H+ +OH™ — HZO) 19 AnSWGr: (2)
— —52.26 = x —58.84 k 2% 3
AH or x =6.58 kJ/mol =fA=c= 3x10" ms
Neutralisation - w an
14. Answer: (3) Which is a constant.
A compound containing N and S forms blood red
colour [Fe(SCN)J** 20. Answer: (1)
A-ii, B—1i, C—iv, D -iii

1

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

